Molarity Worksheet KEY
Calculate the molarity of each of the following solutions:

1. 5.85 g of NaCl in 2.25L of water.
 Given: 5.85g NaCl   (molar mass= 58.42g/mol)

             2.25L water

Molarity = mol of solute/L of solution

5.85g NaCl / molar mass of NaCl = 0.1 mol NaCl

0.1mol NaCl/ 2.25 L water=0.045M
2. 400 g of Copper (II) Sulfate in 3.35L of water.

Solve similarly to #1.    0.748M
3. 0.75 moles of Nickel (II) Chloride in 1.25 L of water.    0.6M  just solve for Molarity!
Calculate the number of moles and the number of grams of each solute in the following solutions:
4. 1.00 L of 0.55M NaCl     0.55mol NaCl   and 32.131g NaCl
5. 250mL of 0.15M CaCl2    0.0375 mol CaCl2  and 2.83g CaCl2
6. 330mL of 0.54M CuSO4    0.1782 mol CuSO4  and 28.44g CuSO4
7. How many milliliters of 0.500M Cr2(SO4)3 solution is needed to react completely with 300mL of 0.115M BaCl2?

3  BaCl2 +  Cr2(SO4)3  (    2 CrCl3  +   3 BaSO4       balance first
Given: 300mL BaCl2 = 0.3 L BaCl2

Step 1: Solve for the number of moles of BaCl2, using the converted L in the given and it’s Molarity 
0.115M= x/0.3   -( (0.115)(0.3)= 0.0345 mol BaCl2

Step 2: Convert from moles of BaCl2 to mol of Cr2(SO4)3 **using BALANCED Equation

0.0345mol BaCl2 / (1 mol Cr2(SO4)3/ 3 mol BaCl2) = 0.115 mol Cr2(SO4)3

Step 3: using the newly found moles, Solve for volume **using the molarity formula

0.5M = 0.115mol/ x  ( 0.115/0.5 = 0.023 L  ( convert to mL   = 23mL of Cr2(SO4)3
8. How many milliliters of 2.50M Nitric Acid is needed to dissolve a copper penny with a mass of 3.94g?  solve similarly to #7   66.13mL HNO3
